## Informational Report for the June 25, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Chabot College -	Community Ed	ucatio	on		To to only done							
					To teach drama classes to							
					community education	Community						
Arnott	Heidi	E.	Chabot	No	students	Education	Hourly	\$35.00	16	\$560.00	7/8/2013	7/18/2013
Amou	riciai	<u></u> .	Onabot	140	To teach Sign	Ludcation	riourry	ψ55.00	10	ψ500.00	170/2013	7710/2013
					Language to							
					community education	Community						
Bishop	Sasha	G.	Chabot	No	students	Education	Hourly	\$25.00	7	\$175.00	6/17/2013	6/20/2013
-												
					To teach Math &							
					Computers for Kids	Community						
Brenner	Dawnette	N.	Chabot	Yes	on Campus Program	Education	Hourly	\$45.00	32	\$1,440.00	6/17/2013	7/18/2013
					To counsel Kids on	Community	Flat					
Comp	Glenn	R.	Chabot	No	Campus Program	Education	Rate	\$1,050.00	1	\$1,050.00	6/17/2013	7/18/2013
					To teach Tae Kwon							
					Do to community	Community						
Deguzman	Rudolfo	S.	Chabot	No	education students	Education	Hourly	\$35.00	6	\$210.00	6/17/2013	6/20/2013
					To teach Dance to	0 : : : :						
Dallaga	Emerlita	A.	Chabot	No	community education students	Education	Hourly	\$35.00	16	\$560.00	7/13/2013	8/31/2013
DeLeon	Emeriia	A.	Chabot	INO	To teach Math &	Education	поину	φ35.00	10	φου.υυ	7/13/2013	0/31/2013
					History's Mysteries							
					for Kids on Campus	Community						
Galloway	Amanda	J.	Chabot	Yes	Program	Education	Hourly	\$35.00	23	\$805.00	6/24/2013	6/27/2013
,					To teach Math and		1	-		-		
					Language Arts for							
					the Kids on Campus	Community						
Goldsmith	Ashley	R.	Chabot	Yes	Program	Education	Hourly	\$35.00	16	\$560.00	7/8/2013	7/18/2013

## Informational Report for the June 25, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Type	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To work as a camp	0 : : : :						
0	D i i	١.	0111	V	counselor for Kids on	,	I I a contro	<b>#</b> 40.00	400	<b>#4 000 00</b>	0/47/0040	7/40/0040
Groff	Benjamin	J.	Chabot	Yes	Campus Program. To teach Cake	Education	Hourly	\$10.00	122	\$1,220.00	6/17/2013	7/18/2013
					Decorating to							
					Community	Community						
Groff	MaryLou	nmi	Chabot	No	Education students	Education	Hourly	\$30.00	4	\$120.00	7/20/2013	7/31/2013
Gion	IVIAI y LOU	1111111	Chabot	110	Ludcation students	Lucation	riourry	ψ50.00	4	Ψ120.00	7/20/2013	7/31/2013
					To assist with							
					planning,marketing,							
					and implementation							
					of Community							
					Education's Kids on							
					Campus summer	Community						
Haney	Victoria	A.	Chabot	No	camp	Education	Hourly	\$25.00	72	\$1,800.00	7/1/2013	7/18/2013
					To teach Soccer to							
	A .1				Kids on Campus	Community		<b>400.50</b>	00	<b>#040.00</b>	7/0/0040	7/44/0040
Igwe	Anthony	Ο.	Chabot	No	students	Education	Hourly	\$30.50	20	\$610.00	7/8/2013	7/11/2013
					To teach Soccer to	C = : : t- :						
Laure	Anthony	Ο.	Chabot	No	community education students	Education	Llouwhy	\$37.50	23	\$862.50	6/24/2013	8/8/2013
Igwe	Anthony	U.	Chabot	INO	students	Education	Hourly	ф37.50	23	φου2.50	6/24/2013	0/0/2013
					To teach Cartooning							
					to Kids on Campus	Community						
Kolm	Brian	М.	Chabot	No	students	Education	Hourly	\$30.00	16	\$480.00	6/17/2012	6/27/2013
ROIIII	Dilan	101.	Onabot	110	To to Chinese to	Ladodion	riouriy	φου.σο		Ψ100.00	0/11/2012	0/21/2010
					community education	Community						
Kuo	Diana	S.	Chabot	No	students	Education	Hourly	\$45.00	7	\$315.00	7/8/2013	7/11/2013
-				1	To teach Language			,				
					Arts to 7th-8th grade -							
					Kids on Campus	Community						
Malek	Sonia	M.	Chabot	Yes	students	Education	Hourly	\$45.00	16	\$720.00	6/17/2013	6/17/2013

## Informational Report for the June 25, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	М	Site	District	Duties	Division	Type	Pay Rate	Maximum	Amount	Beg. Date	End Date
	7 11 00 11011110		0.10		2 0.0.00	211101011	1.760	i ay maso		7	209. 20.0	
					To work as a camp							
					counselor for Kids on	Community						
Martinez	Chloe	A.	Chabot	Yes	Campus Program	Education	Hourly	\$10.00	133	\$1,330.00	6/17/2013	7/19/2013
					To teach Project							
					Management							
					Courses leading to							
					PMI Certification to							
					Community	Community						
Pinkas	Catherine	nmi	Chabot	No	Education students	Education	Hourly	\$60.00	45	\$2,700.00	5/16/2013	8/20/2013
					To work as a camp							
					counselor for Kids on	,						
Powell	Megan	E.	Chabot	Yes	Campus Program	Education	Hourly	\$10.00	146	\$1,460.00	6/17/2013	7/18/2013
					To work as Co-							
					Director for Kids on	Community						
Sannebeck	Daniel	A.	Chabot	No	Campus students	Education	Hourly	\$20.00	65	\$1,300.00	6/17/2013	7/18/2013
					To teach Flash							
					Animation for Kids on	Community						
Schwarz	Bill	F.	Chabot	No	Campus students	Education	Hourly	\$45.00	8	\$360.00	6/29/2013	7/18/2013
					To teach Garage							
					Band for Kids on	Community						
Shannon	William	S.	Chabot	No	Campus students	Education	Hourly	\$45.00	7	\$315.00	6/17/2013	6/20/2013
					To teach Math &							
					Language Arts for							
					Kids on Campus	Community						
Smith	Victoria	M.	Chabot	Yes	Program	Education	Hourly	\$45.00	15	\$675.00	6/17/2013	6/27/2013
					To teach Math and							
					Language Arts for							
					the Kids on Campus	Community						
Woll	Lauren	M.	Chabot	No	Program	Education	Hourly	\$45.00	37	\$1,665.00	6/17/2013	6/27/2013

## Informational Report for the June 25, 2013 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Yee	Jennifer	P.	Chabot	Yes	To work as a camp counselor for Kids on Campus Program	Community Education	Hourly	\$10.00	129	\$1,290.00	6/24/2013	7/18/2013
Chabot College												
Adama Bailes			Obahat	Na	To work as a sports instructor for the disadvantaged youth summer sports	Programs &	Flat	¢ 4 000 00		<b>#</b> 4 000 00	0/47/0040	7/40/0040
Adams Bailey	Tracey	C.	Chabot	No	program To provide audio	Services	Rate	\$ 1,800.00	1	\$ 1,800.00	6/17/2013	7/18/2013
An dra da	Doverio		Chabot	No	project services for the Performing Arts Center	School of Arts	Llouwhy	\$23.00	100	¢4 600 00	7/1/2013	12/31/2013
Autrov	Deverie Mari	J.	Chabot	No	To provide project services for the Performing Arts Center	School of the Arts	Hourly	\$18.00		\$4,600.00 \$2,700.00	7/1/2013	12/31/2013
Autrey		nmi			To provide tutoring	Health, Physical Education						
Berven	Joanne	M.	Chabot	No	for nursing classes	and Athletics	Hourly	\$30.00	20	\$ 600.00	8/12/2013	12/31/2013
Bowman	Myrna	L.	Chabot	No	To provide tutoring for nursing classes	Health, Physical Education and Athletics	Hourly	\$30.00	20	\$ 600.00	8/12/2013	12/31/2013
Brill	Bruce	nmi	Chabot	No	To teach Guitar to community education students	Community Education	Hourly	\$45.00	30	\$ 1,350.00	7/13/2013	8/24/2013

## Informational Report for the June 25, 2013 Board of Trustees Meeting

To work as a project aide for the disadvantaged youth Special Services   Flat Services   Fla	Loot Name	First Name	мі	Site	New Emp to	Dution	Division	Pay	Pov Poto	Maximum	Maximum Amount	Assign Beg. Date	
Clark	Last Name	First Name	IVII	Site	DISTRICT	Duties	DIVISION	Type	Fay Kale	Maxilliulli	Amount	Deg. Date	Eliu Dale
Clark						aide for the	On a sink						
Clark								Flat					
To work as a project aide for the disadvantaged youth summer sports program Services Rate \$1,500.00 1 \$1,500.00 6/17/2013 7/18/20 Services Rate \$1,500.00 1	Clark	Rhomel	N	Chahot	Yes	i i	_		\$1,500,00	1	\$ 1 500 00	6/17/2013	7/18/2013
Davis	Olark	Tariomer	14.	Chabot	100		COLVICCO	rtato	ψ1,000.00		Ψ 1,000.00	0/11/2010	7710/2010
Davis													
Davis						disadvantaged youth	Special						
To work as a project aide for the disadvantaged youth summer sports program & Services Rate \$1,500.00 1 \$1,500.00 6/17/2013 7/18/20 Health, Physical Education and Athletics Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,500.00 1 \$1,500.00 6/17/2013 7/18/20 Programs & Services Rate \$1,500.00 1 \$1,500.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 20 \$600.00 8/12/2013 12/31/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Programs P								Flat					
Davis   Nailah   A.   Chabot   Yes   program   Special   Services   Rate   \$1,500.00   1   \$1,500.00   6/17/2013   7/18/20	Davis	Asti	J.	Chabot	Yes	program	Services	Rate	\$1,500.00	1	\$ 1,500.00	6/17/2013	7/18/2013
Davis   Nailah   A.   Chabot   Yes   program   Special   Programs & Services   Rate   \$1,500.00   1   \$1,500.00   6/17/2013   7/18/20													
Davis   Nailah   A.   Chabot   Yes   summer sports   Program   Services   Rate   \$1,500.00   1   \$1,500.00   6/17/2013   7/18/20													
Davis   Nailah   A.   Chabot   Yes   program   Services   Rate   \$1,500.00   1   \$1,500.00   6/17/2013   7/18/20							•						
Evangelista Gwyneth D. Chabot No for nursing classes a sports instructor for the disadvantaged youth summer sports Program Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 12/31/20 Health, Physical Education and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20 Health, Physical Education and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20 Health, Physical Education and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20 Health, Physical Education and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20 Health, Physical Education E						i i							
Evangelista Gwyneth D. Chabot No For nursing classes  To provide tutoring for nursing classes  To work as a sports instructor for the disadvantaged youth summer sports  Green Alexus S. Chabot Yes program Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20  Hamod Michele R. Chabot No for nursing classes  To provide tutoring Education  and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20  Flat Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20  Health, Physical Education  and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20  Health, Physical Education  Education  and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20  Education	Davis	Nailah	A.	Chabot	Yes	program		Rate	\$1,500.00	1	\$ 1,500.00	6/17/2013	7/18/2013
Evangelista Gwyneth D. Chabot No for nursing classes and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20 To work as a sports instructor for the disadvantaged youth summer sports Programs & Flat Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Health, Physical Education and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20 Health, Physical Education and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20 Health, Physical Education and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20 Health, Physical Education and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20 Health, Physical Education and Education							1						
Evangelista Gwyneth D. Chabot No for nursing classes and Athletics Hourly \$30.00 20 \$ 600.00 8/12/2013 12/31/20 To work as a sports instructor for the disadvantaged youth summer sports program Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Health, Physical Education and Athletics Hourly \$30.00 20 \$ 600.00 8/12/2013 12/31/20 Health, Physical To provide tutoring Education and Athletics Hourly \$30.00 20 \$ 600.00 8/12/2013 12/31/20 Health, Physical Education and Athletics Hourly \$30.00 20 \$ 600.00 8/12/2013 12/31/20 Health, Physical Education Education													
To work as a sports instructor for the disadvantaged youth summer sports Programs & Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20 Health, Physical Education and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20 Health, Physical To provide tutoring Education												- / - / / -	
Green Alexus S. Chabot Yes program Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20  Hamod Michele R. Chabot No for nursing classes Alexum To provide tutoring Education To provide tutoring Education To provide tutoring Education To provide tutoring Education	Evangelista	Gwyneth	D.	Chabot	No		and Athletics	Hourly	\$30.00	20	\$ 600.00	8/12/2013	12/31/2013
Green Alexus S. Chabot Yes program Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20  Hamod Michele R. Chabot No for nursing classes To provide tutoring Health, Physical Flat Services Rate To provide tutoring Education													
Green Alexus S. Chabot Yes program Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20  Health, Physical Education and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20  Health, Physical Education and Athletics Hourly Flower Education Educa							Cassial						
Green Alexus S. Chabot Yes program Services Rate \$1,800.00 1 \$1,800.00 6/17/2013 7/18/20  Health, Physical Education and Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20  Health, Physical Health, Physical Education and Education							•	Flot					
Hamod Michele R. Chabot No for nursing classes and Athletics Hourly \$30.00 20 \$ 600.00 8/12/2013 12/31/20  Health, Physical Health, Physical To provide tutoring Education  To provide tutoring Education	Groon	Alovus	9	Chahot	Vac	· ·	_		\$1,800,00	1	\$ 1 800 00	6/17/2013	7/18/2013
Hamod Michele R. Chabot No for nursing classes And Athletics Hourly \$30.00 20 \$600.00 8/12/2013 12/31/20 Health, Physical Education To provide tutoring Education To provide tutoring Education	Olecii	Alexus	٥.	Oriabot	163	program		ivaic	Ψ1,000.00		ψ 1,000.00	0/11/2013	7/10/2013
Hamod Michele R. Chabot No for nursing classes and Athletics Hourly \$30.00 20 \$ 600.00 8/12/2013 12/31/20  Health, Physical To provide tutoring Education Education Education Education Education Education Education							,						
Hamod Michele R. Chabot No for nursing classes and Athletics Hourly \$30.00 20 \$ 600.00 8/12/2013 12/31/20 Health, Physical To provide tutoring Education						To provide tutoring							
Health, Physical To provide tutoring Education	Hamod	Michele	R	Chahot	No	, ,		Hourly	\$30.00	20	\$ 600.00	8/12/2013	12/31/2013
Physical To provide tutoring Education	i idillod	IVIIOTICIC	1	Jilabot	140	Tot Hursing Glasses		ricuity	ψου.υυ	20	Ψ 500.00	0/12/2010	12/01/2010
To provide tutoring Education							· ·						
						To provide tutoring							
Kendall   Susan   A.   Chabot   No   for nursing classes   and Athletics   Hourly   \$30.00  20  \$600.00  8/12/2013   12/31/20	Kendall	Susan	Δ	Chabot	No	for nursing classes		Hourly	\$30.00	20	\$ 600.00	8/12/2013	12/31/2013

## Informational Report for the June 25, 2013 Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
							712				<b>J</b>	
Kollias	Patricia	nmi	Chabot	No	To provide specialized services for the Performing Arts Center	School of the Arts	Hourly	\$16.00	250	\$ 4,000.00	7/1/2013	12/21/2013
Lopez	Jose	D.	Chabot	No	To provide services as an athletic trainer for the NorCal and State championship in 2013	Health, Physical Education and Athletics	Flat Rate	\$400.00	1	\$ 400.00	5/1/2013	6/30/2013
Miller	Daniel	D.	Chabot	No	To provide services as an athletic trainer for the NorCal and State championship in 2013	Health, Physical Education and Athletics	Flat Rate	\$100.00	1	\$ 100.00	5/1/2013	6/30/2013
Mong	Sean	s	Chabot	Yes	To teach radiation safety and certificatio to Dental Hygiene students	Health, Physical Education,	Hourly	\$75.00	16		2/23/2013	5/31/2013
Moore	Rachel	M.	Chabot	No	To provide steno- captioner services for hearing impaired students	Disabled Student Services and Programs	Hourly	\$32.00	350	\$11,200.00	4/15/2013	6/30/2013
Nahinu	Malia	M.	Chabot	Yes	To work as a project aide for the disadvantaged youth summer sports program	Special Programs & Services	Flat Rate	\$ 1,500.00	1	\$ 1,500.00	6/17/2013	7/18/2013

### Informational Report for the June 25, 2013 Board of Trustees Meeting

				New			Day			Mayimum	Accien	Assiss
Loot Name	First Name	NA.	Site	Emp to District	Duties	Division	Pay	Day Date	Maximum	Maximum	Assign	Assign
Last Name	First Name	MI	Site	DISTRICT	Duties	ווסוצועום	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To work as a							
					lifeguard for the							
					disadvantaged youth	Special						
					summer sports	Programs &	Flat					
Noguez Olguin	Andrea	C.	Chabot	No	program	Services	Rate	\$ 1,500.00	1	\$ 1,500.00	6/17/2013	7/18/2013
					To work as a							
					lifeguard and provide							
					pool supervision for	Physical						
					the outside pool	Education, &						
Noguez Olguin	Andrea	C.	Chabot	No	group	Athletics	Hourly	\$ 9.00	160	\$ 1,440.00	2/4/2013	5/15/2013
					To provide							
					specialized services							
					for the Performing	School of the						
Powell	Joan	E.	Chabot	No	Arts Center	Arts	Hourly	\$15.00	250	\$ 3,750.00	0701/2013	12/31/2013
					To provide							
					specialized services							
					for the Performing	School of the						
Pratt	Roberta	F.	Chabot	No	Arts Center	Arts	Hourly	\$16.00	250	\$ 4,000.00	7/1/2013	12/31/2013
					To work as a							
					lifeguard and provide	Health,						
					pool supervision for	Physical						
					the outside pool	Education, &				_		
Ramirez	Christina	A.	Chabot	No	group	Athletics	Hourly	\$9.00	160	\$ 1,440.00	2/4/2013	5/15/2013
						Health,						
					Tarrento de a Carren	Physical						
Dahinaan	Monte	۱۸/	Chahat	No	To work as the timer	Education, &	Llouwhy	¢40.00	26	Ф 640.00	2/20/2012	E/24/2012
Robinson	Mark	W.	Chabot	No	in the track meet To work as a	Athletics	Hourly	\$18.00	36	\$ 648.00	3/29/2013	5/31/2013
					lifeguard for the							
					disadvantaged youth	Special						
					summer sports	Programs &	Flat					
Rubino III	Jesse	A.	Chabot	No	program	Services	Rate	\$1,800.00	1	\$ 1,800.00	6/17/2013	7/18/2013

## Informational Report for the June 25, 2013 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					To work as a lifeguard and provide pool supervision for	Health, Physical						
Rubino III	Jesse	A.	Chabot	No	the outside pool group	Education, & Athletics	Hourly	\$20.00	160	\$ 3,200.00	2/4/2013	5/15/2013
Ruvalcaba	Arthur	nmi	Chabot	Yes	To work as a project aide for the disadvantaged youth summer sports program	Special Programs & Services	Flat Rate	\$ 1,500.00	1	\$ 1,500.00	6/17/2013	7/18/2013
Sammons	Amber	R.	Chabot	No	To teach Volleyball to community education students	Community Education	Hourly	\$32.50	40	\$ 1,300.00	6/18/2013	8/1/2013
Sanchez Pillot	Adriana	M.	Chabot	Yes	To serve as an ESL coach to instruct, explain, and mentor other ESL Coaches	Language Arts	Flat Rate	\$500.00	1	\$ 500.00	4/1/2013	5/17/2013
Sims	Cody	R.	Chabot	Yes	To work as a project aide for the disadvantaged youth summer sports program		Flat Rate	\$1,500.00	1	\$ 1,500.00		7/18/2013
Stiver	Deanna	M.	Chabot	No	To provide specialized services for the Performing Arts Center	School of the Arts	Hourly	\$15.00	250	\$6,750.00	7/1/2013	12/31/2013
Tomei	Tyler	A.	Chabot	No	To work as a lifeguard for the disadvantaged youth summer sports program	Special Programs & Services	Flat Rate	\$1,200.00	1	\$ 1,200.00	6/17/2013	7/18/2013

## Informational Report for the June 25, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Wagoner	Dylan	J.	Chabot	No	To work as a sports instructor for the disadvantaged youth summer sports program	Special Programs & Services	Flat Rate	\$1,800.00	1	\$ 1,800.00	6/17/2013	7/18/2013
Las Positas Colleg	e - Communit	y Edu	cation									
lanniello	Raphaella	A.	Las Positas	No	For Behavior interviewing for the National Food Lab to Community Education students	Community Education	Flat Rate	\$1,200.00	1	\$1,200.00	4/18/2013	4/19/2013
Las Positas Colleg	е											
Buckner-Preston	Mia	D.	Las Positas	No	To provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	Hourly	\$65.00	100	\$6,500.00	7/1/2013	12/31/2013
Castro	Karen	E.	Las Positas	No	To provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	Hourly	\$65.00	100	\$6,500.00	7/1/2013	12/31/2013
Cerruti	Dayna	R.	Las Positas	Yes	To serve as Public Health Nurse to staff and students in the Student Health and Wellness Center	Student Services	Hourly	\$60.00	50	\$3,000.00	6/17/2013	6/30/3013

## Informational Report for the June 25, 2013 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Evans-Mc Williams	Gwendolyn	Y.	Las Positas	No	To provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	Hourly	\$50.00	100	\$5,000.00	7/1/2013	12/31/2013
					To provide training activities for Surgical	Science, Technology, Engineering, Math & Public						
Gabel	Audrey	H.	Las Positas	No	Technology Program	Safety	Hourly	\$75.00	96	\$7,200.00	6/18/2013	8/16/2013
Gabel	Audrey	Н.	Las Positas	No	summer session	Science, Technology, Engineering, Math & Public Safety	: Hourly	\$50.00	104	\$5,200.00	6/18/2013	8/16/2013
Gecox	Heike	nmi	Las Positas	No	To conduct workshops for parents and caregivers	Foster and Kinship Care Education	Hourly	\$50.00	100	\$5,000.00	7/1/2013	12/31/2013
Grigsby	Gabrielle	K.	Las Positas	No	To provide sign language interpretation services at 2013 Commencement Ceremony	Disabled Student Programs and Services	Hourly	\$50.00	6	\$300.00	5/27/2013	6/30/2013
Hauser	Gerry	A.		No	To provide PRIDE training for the Foster and Kinship Care Education Program		Hourly	\$50.00	100		7/1/2013	

## Informational Report for the June 25, 2013 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
								,				
Holback	Richard	A.	Las Positas	No	To provide skills evaluation and assess Fire Service Technology students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	100	\$1,500.00	7/1/2013	12/31/2013
Holback	Richard	Α.	Las Positas	No	To provide skills evaluation and assess Fire Service Technology students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	200	\$3,000.00	7/1/2013	12/31/2013
Kordes	Tim	W.	Las Positas	No	To provide skills evaluation and assess Fire Service Technology students	Science, Technology, Engineering, Math & Public Safety	Hourly	\$15.00	100	\$1,500.00	7/1/2013	12/31/2013
Kyer	Beverly	D.	Las Positas	No	To conduct workshops for parents and caregivers	Foster and Kinship Care Education	Hourly	\$75.00	100	\$7,500.00	7/1/2013	12/31/2013
Logan	Andrew	D.	Las Positas		To provide skills evaluation and assess Fire Service Technology students	Science, Technology, Engineering, Math & Public		\$15.00	100	\$1,500.00	7/1/2013	12/31/2013

## Informational Report for the June 25, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
					To provide							
					coordination and							
					training for the Foster	Early						
					and Kinship Care	Childhood						
Loyola	Anne	L.	Las Positas	No	Education Program	Development	Hourly	\$45.00	900	\$40,500.00	7/1/2013	12/31/2013
					To provide initial	Essten and						
					training for the PRIDE program for	Foster and Kinship Care						
McMillan	Rosalind	D.	Las Positas	No	foster parents	Education	Hourly	\$65.00	100	\$6,500.00	7/1/2013	12/31/2013
Wowiiian	rtosamia	D.	Las i Ositas	140	roctor paromo	Ladoation	riourry	ψοσ.σσ	100	ψο,σσσ.σσ	77172010	12/01/2010
						Science,						
					To provide skills	Technology,						
					evaluation and	Engineering,						
Nenni II	Daniel	A.	Las Positas	No	assess Emergency Medical students	Math & Public Safety	Hourly	\$15.00	100	\$1,500.00	7/1/2013	12/31/2013
Neilli II	Darliel	Α.	Las Pusitas	INO	iviedicai students	Salety	Пошту	\$15.00	100	\$1,500.00	1/1/2013	12/31/2013
						Science,						
					To provide skills	Technology,						
					evaluation and	Engineering,						
					assess Fire Service	Math & Public					-///	
Nenni II	Daniel	A.	Las Positas	No	Technology students	Safety	Hourly	\$15.00	100	\$1,500.00	7/1/2013	12/31/2013
					T							
					To provide assistance to the Fire							
					Technology	Applied						
					Instructor and	Technology						
Pastore	Mary	E.	Chabot	No	support the students	and Business	Hourly	\$75.00	60	\$4,500.00	8/5/2013	12/31/2013
						Foster and						
					To provide support	Kinship Care				00.000.00		
Powell	Yvette	L.	Las Positas	No	for PRIDE classes	Education	Hourly	\$22.00	150	\$3,300.00	7/1/2013	12/31/2013

## Informational Report for the June 25, 2013 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
							- 7   -	,			_ 0 9 _ 0 0	
Roberts-Brewer	Akilah	V.	Las Positas	No	To provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	Hourly	\$65.00	100	\$6,500.00	7/1/2013	12/31/2013
Rodriguez Molina	Juan	D.	Las Positas	No	To provide software expertise in Statistical Package for Social Sciences, Teleform Survey Software, and Brioquery	Research and Development	Hourly	\$17.50	70	\$1,225.00	5/1/2013	6/30/2013
Trogdon	Pamela	C.		No	To conduct workshops for parents and caregivers	Foster and Kinship Care Education	Hourly	\$50.00		\$7,500.00		12/31/2013
Wells	Karen	R.		No	To conduct workshops for parents and caregivers	Foster and Kinship Care Education	Hourly	\$75.00		\$7,500.00		12/31/2013
Wilkins	Quincy	L.		No	To provide PRIDE training for the Foster and Kinship Care Education Program		Hourly	\$65.00		\$6,500.00	7/1/2013	